[ Efficiency vs vertpos |

—_

>
»
>

0.4

20.09
20.08

(8]
§0.07

=

£0.06

0.05]

0.04

0.03

0.0

0.02
0.01
o +Rf - : -
s E : E
o H 1 H 1
- - et it - e+ | e ] Rl = - Gt - s -
I 1 HUNES i
1 H T
0.951 - n -
10~ 10~ 1 10 0
TP vertr (cm
—— DQNMMRET T T Tetam-owpt
(e — B T e e
Efficienq —— DOM”mKEIt"TT"NEW e;au :sEecPLessS ow|
—— DOM”mKFIt_TT_NEWdefault_specPL Oow|
N 0.1p
) ot ACiait SEEET STLIR SRR
4 E
S 0.08F -
> F
LC) E
9007:_ ------------------------------------------------
o E
£ 008 wsooof oo
o E ; :
0.05F -y {iseeeeeereme i e
0.04F 44| } ----------------- g+
0.03F ;4| [H +i (RS TR
0.02 R E - +++ ----- Nt I
E LA 0 L +1' ‘..‘.‘i. ++ .....

Ratio

Vs

[y

9535

-20

-10

10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV

~ 0.05
>
00.045

E

=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01
0.005

Ratio

1. . ; T ]
1__ .......... .“ir - %ir - 1H+HP - §1P -
oosbeee i ELLLLELLLLELLLLELL R
=20 -15 -10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


